6087. A Cycle of Points
There are n points on a plane, numbered from 1 to n. They form a directed cycle 1 → 2 → ... → n → 1. You need to perform the following operation several times: given the numbers of two points a and b, remove the part of the cycle starting with the point a and ending with the point b, and return it back in reversed order, so that part will start from b and end with a. Find the length of the final cycle.
Input.  The first line contains two numbers n and m (3 ≤ n, m ≤ 100000). Next n lines contain two numbers xi and yi – coordinates of i-th point. Next m lines contain two numbers ai and bi – point numbers in i-th operation. 

Output. Output the length of the final cycle with two digits after the decimal point.
Explanation. Initial cycle: 1 → 2 → 3 → 4 → 5 → 1

· After the first operation: 1 → 5 → 3 → 4 → 2 → 1 (part 5 → 1 → 2 is replaced with 2 → 1 → 5)

· After the second operation: 1 → 2 → 4 → 3 → 5 → 1 (part 5 → 3 → 4 → 2 is replaced with 2 → 4 → 3 → 5)

· After the third operation: 1 → 2 → 5 → 3 → 4 → 1

	Sample input
	Sample output

	5 3

0 0

1 0

2 0

2 2

0 2

5 2

5 2

4 5
	10.89
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decart tree
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